Appendix F.
Student Socioeconomic Status Additional Results

1. Etffects of Class Size on Free Lunch and Non-Free Lunch Students

The information in this section is based upon students' designation as free lunch or non-free
lunch. Although overall the two groups were about equal, only in the rural schools were they
close with 60 percent non-free lunch and 40 percent free lunch.

Socioeconomic status is strongly related to students’ achievement scores. In every instance in all
four grades the non-free lunch students out-scored the free lunch students. (TABLE F-1)

TABLE F-1

Comparison of Stanford Achievement Total Reading
Scaled Score Average for All Free Lunch and
Non-Free Lunch Students by Grade Level

Total Reading Free Lunch Non-Free Lunch
Kindergarten 428.0 (N=2787) 4448 (N=2981)
Grade 1 500.8 (N=3145) 541.2 (N=3087)
Grade 2 567.0 (N=2869) 600.1 (N=2956)
Grade 3 602.6 (N=2841) 627.8 (N=2984)

Comparison of Stanford Achievement Total Math
Scaled Score Average for All Free Lunch and
Non-Free Lunch Students by Grade Level

Total Math Free Lunch Non-Free Lunch

Kindergarten - 473.3 (N=2821) 496.6 (N=3029)
Grade 1 516.7 (N=3271) 5449 (N=3156)
Grade 2 566.5 (N=2862) 594.1 (N=2953)
Grade 3 605.2 (N=2892) 630.4 (N=301 d)
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In kindergarten math there was a 24 point difference in average scaled scores of free lunch and
non-free lunch students (473 to 497) and in reading there was a 17 point difference (428 to 445).
The greatest difference was found in first grade reading. The difference between free lunch and
non-free lunch in reading was 40 scaled score points and in math the non-free lunch students
were 28 scaled score points higher than the free lunch students. In second grade, the free lunch
students had an average reading scaled score of 567 and the students not on free lunch had an
average reading scaled score of 600 which is 33 points higher. In math the non-free lunch
students scored 27 scaled score points higher than the free lunch students. The scaled score for
non-free lunch students in third grade was 25 points higher than free lunch students in both math
and reading.

The next question to be asked was, "Do free lunch students score higher in small classes than in
regular and regular/aide classes?" Tables F-2 through F-6 provide an affirmative answer in all
grades and all locations with four exceptions. Free lunch students scored higher in urban reading
second grade regular/aide and third grade regular; rurai math first grade reguiar/aide and second
grade regular/aide. Based on this information the difference between free-lunch and non-free
lunch students’ scores in small classes should be less than the difference between free lunch
and non-free lunch students in regular classes and also in regular/aide classes. The difference
was less in all grade levels except first grade. In the first grade regular class the difference was
.7 points less than the small class difference and in the regular/aide the difference was 1.8 less
than the small class difference.
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With affirmative answers to these two questions, the next assumption is that achievement
differences between small classes and regular classes should be greater for free lunch students
than for non-free lunch students. In order to determine the advantage (achievement difference)
that free lunch students in small classes have over free lunch students in regular classes the
scaled scores were compared (Table F-7). This table also includes the advantage that non-free
lunch students in small classes have over non-free lunch students in regular classes. In
kindergarten the advantage was 6.5 for the free lunch population in small over regular, while the
advantage for non-free lunch was 5.2 for the small class over the regular class. This is a very
small difference in the value of a small class for free lunch students over non-free lunch
students. In first grade the advantage was .7 in favor of the non-free lunch regular class
students.

Table F-7
A Comparison of the Advantage of a Small Class over a Regular Class

for Free Lunch and Non-Free Lunch Students in Reading and Math
TOTAL READING

Total Population . Inner-City Suburban Rural Urban
Grade Free Non-Free Free Non-Free Free Non-Free Free Non-Free Free Non-Free
K 65 52 67 76 120 38 45 54 60 4.9

141 148 181 -161 181 210 93 136 102 185

1
2 120 74 159 258 9.1 7.2 8.9 8.5 3.3 3.1
3 8.4 6.7 14.8 6.9 5.7 6.6 3.0 5.3 -3.8 211

TOTAL MATH
Total Population Inner-City Suburban Rural Urban

Grade Free Non-Free Free Non-Free Free Non-Free Free Non-Free Free Non-Free
7.4 8.2 9.4 125 -0.3 2.0 7.7 10.6 6.7 10.3
115 123 143 -48 132 165 7.7 105 8.3 17.9

K

1

2 8.3 66 180 110 179 123 33 3.6 28 136
3 5.2 59 -39 93 1.8 7.9 0.5 2.9 1.1 231
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The advantage scores were obtained by subtracting the scaled score average of the Free Lunch
students in a regular class from the score of the Free Lunch students in a small class. The
advantage score for the non-free lunch students was obtained in the same way. Tables F-2
through F-6 have the scaled scores from which these advantages were computed.

The advantage (4.6) of the small class over regular class for the free lunch students was greater
than for the non-free lunch students in second grade. It was also 1.7 greater in third grade. The
regular/aide produced less advantage (Table F-8) than the small class except in first grade
where the regular/aide difference was 1.1. In second grade when the small class advantage was
the highest of all, the regular/aide was at 0 and in third grade at -.1.

Table F-8
A Comparison of the Advantage of a Regular/Aide Class

over a Regular Class for Free Lunch and Non-Free Lunch
Students in Reading and Math

TOTAL READING
Total Population Inner-City Suburban Rural Urban
Grade Free Non-Free Free Non-Free Free Non-Free Free Non-Free Free Non-Free
1.7 0.7 4.4 5.1 1.2 22 -03 1.4 -1.1 0.6
7.6 6.5 4.6 6.0 -5.0 6.5 145 59 1.8 55

K

1

2 3.3 3.3 39 233 9.6 2.3 8.0 2.5 5.4 9.8
3 0.7 0.8 2.8 3.5 1.1 25 04 -06 -102 79

TOTAL MATH
Total Population Inner-City Suburban Rural Urban

Grade Free Non-Free Free Non-Free Free Non-Free Free Non-Free Free Non-Free

K -0.6 0.7 -0.8 8.8 -62 -05 0.9 2.2 5.0 -1.9
1 4.8 3.0 4.6 5.6 -46 -05 9.3 4.6 -8.1 -0.2
2 1.4 0.2 -1.9 2.9 5.0 -11 6.9 0.0 23 9.8
3 -2.5 1.1 04 110 -27 1.3 -2.8 0.9 -44 6.9
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The advantage scores were obtained by subtracting the scaled score average of the Free Lunch
students in a regular class from the score of the Free Lunch students in a regular/aide class. The
advantage score for the non-free lunch students was obtained in the same way. Tables F-2
through F-6 have the scaled scores from which these advantages were computed.

When students were grouped by location and by class type, in only two instances did the regular
non-free lunch group have an advantage over the non-free lunch group in small class. In the
inner city first grade reading and math the non-free lunch regular class had an advantage score
of -16.1 in reading and -4.8 in math. In only three instances did the regular class free lunch
students have a greater advantage than the small class free lunch students: Reading in urban
schools in third grade; math in the inner city in third grade; math in suburban kindergarten.

298




 
 
    
   HistoryItem_V1
   AddMaskingTape
        
     Range: all pages
     Mask co-ordinates: Horizontal, vertical offset -36.04, -6.70 Width 63.31 Height 796.75 points
     Origin: bottom left
      

        
     1
     0
     BL
    
            
                
         1
         AllDoc
         1
              

       CurrentAVDoc
          

     -36.0388 -6.6968 63.3113 796.7488 
      

        
     QITE_QuiteImposingPlus2
     Quite Imposing Plus 2 2.0
     Quite Imposing Plus 2
     1
      

        
     0
     10
     9
     10
      

   1
  

 HistoryList_V1
 qi2base



